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#include <stdio.h>

#include <time.h>

/[l ZOFITIE y =1 - y2EBBNTND
double f(double x, double y)
{

return 1-y*y;

int main(void)

clock_t start;
clock_t end;
int i;
double x

03

double y 0;

double h = 0.01; // AT v /i
long n = 100000000; // #tH[EI%L
double x0 0;

double yO 0;

double f1;

double £f2;

double £3;

double f4;

start = clock();

for(i=1;i<=n;i++){
fi =h * f(x, y);
f2 = h * f(x+h/2, y+£1/2.0);
£f3 = h * f(x+h/2, y+£2/2.0);
f4 = h * f(x+h, y+£3);
y =y + (f1 + 2%f2 + 2%f3 + £4)/6.0;

x =%x0+ h x i;

printf ("%f: %f\n", x, y);

end = clock();

printf ( "ALPERFR]:%d[ms]\n", end - start );

return 0;

J

HHEKRZE ORT 1V AEH



